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values)
No load test: 400V,9A, 1250W
Short circuit test: 200V, 50A, 6930W
Full load current 32 A
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, Give the constructional details of cylindrical and salient pole rotors used in alternators.
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Open circuit Voltage 5805 7000 12550 13755 15000

Find percentage regulation at full load 0.8 pf lagging using zero power factor method.
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How single phase induction motor is made to self-start? Explain in detail.
Discuss about construction and operation of capacitor start capacitor run induction motor.

[7+8]
.4

!1.t
!r-lr ---bdoob---

5,

A( "f

AC ;

Field current (A)
Torminal voltage at full load Zero P.F.
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l, Explain in detail about the effect of variation in supply frequency and supply voltage on
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3,1) Explain the phenomenon Crawling in induction motors.

b) A 3 phase induction motor has aratio of maximum torque to full load torque is 2.5:1.
Dotcrmine the ratio of actual starting torque to full load torque for star delta starting.
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